Secondary 111 2-3 HW

Factoring Polynomials
amplee\Y

Factorf\the polynomial, or identify it as irreducible.
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Secondary 111 2-

3 HW

Factoring Polynomials

Factor the polynomial by grouping.
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22. Construction A picce of granite is being cut fora
building foundation. You want ils length to be 8 times
its height and its width to be 3 times its height. If you
want the granite to be 648 cubic yards, what will its
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length, width, and height be?

Review

Graph each fun
a. g(x)=32)"

Domain:

Range:

\]:Qx\j\lr\/\—‘ hxdhx h

B2k b= 24h° = 0HE

.
24

W= 271

ction and state the domain and range A

L4

(8)(27x + 54x) 64x — 128

272 (x+ 2) = (o4 |
(%42 (2753 ~)
(D G

18, 4x' —4x*  —x+ 1

b. f(x)=—24x+3
Domain:

Range:

X+42Z)

)
/

_\1ﬂ¢iw5

—

L 1

4 3

2

o+



